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uγαu−dγαd
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u − d
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(
u

d

)

= q.

§ ��������� uγαd = qγατ+q
©
dγαu = qγατ−q

©
uγαu − dγαd = qγατ3q ¦ Â �¬���

τ+ =

(
0 1
0 0

)

, τ− =

(
0 0
1 0

)

, τ3 =

(
1 0
0 −1

)

.
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eAαJα = eAα

(
2

3
uγα − 1

3
dγαd

)

= eAα

(
1

2
qγατ3q +

1

6
qγαq

)

.
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I0
α :=

1

2
qγατ3q,

I+
α :=

1√
2
qγατ+q,

I−α :=
1√
2
qγατ−q.�9���Ð�~�$��¤��$�����������@�9���������
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Ia
α

³°� ¦CÕ �$����}��£}�¢m���
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∂αIa

α = 0.{����$����}��£}�¢�º����£}������Ð���$��É��£�¬¥9��¥9¤��$|7���$����}���}�¢�ºÖ����|���¥��¬�9�J�
Qa =

∫

x0 = ×�Ø Ø Ù�Ú$Û$Ü d3xIa
0 .

§ �9�$�����$�N�$�£��| Ã¬���Ð}��¬�9�������������«�����
eiαaQa Φ e−iαaQa = T (αa)Φ,�~��ÇN�N�����$�$�~����|~�~��}��µ� Ý



αa [Qa, Φ] = δαa
ΦÅ

αa
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• ∂αIa
α = 0

©
• Ia

α

¡N}�¢������m���/�����$���¬��������������ª��$|~�$���9����}�� �����m�$��³ § ¨£�±}��¬�Ö��¥$���$|:�����¬�9�$��}��J¨$����| Ã¬}m�Ð�����9�m����¥9� § Õ ��������³S�Æ}�����������������¬�9�$��}��J¨$����|«����} ¦
§ �$� uγαd
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0 = ∂α 〈f |u(x)γαd(x) |i〉 = ∂α ei(pf−pi)x 〈f |uγαd(0) |i〉 =

= iqαVα ei(pf−pi)x

§ �����~�N¢��9� x
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L 2$354 = −1

2
TrGµνGµν +

∑

k=1

nfqk(iγµDµ − mk)qk.

Â ���
Gµν = ∂µAν − ∂νAµ − ig[Aµ, Aν ,

Aµ = Aa
µ

λa

2
,

Dµqk = ∂µqk − igAµqk.{
k
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k = u, d, s, c, b, t
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nf = 6 ¦ {����76J�$����É�¤�É��$³¹���9���d� F = 2
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Ê�©-8 Å

u, d, s
Ê
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u, d, s, c
Ê ¦

mk
�
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F = 2, 3 = ����©�¡m���������~�N¢��9�U�'¤�}������������9�?> ¦ ® ¥����Æ}�ÃÓ��}Z��|~���N��|��«�Ä�~�'¤�}����~}��N¨��«} ¦ (Ta)f,f ′

©m}�¡m��|
f, f ′ = 1 . . . F¥��

a = 1 . . . F 2 ¦ÄÕ �$������}��N��������������| ÃÈ¯m�J�
δqf = iδωa

V (Ta)ff ′qf ′ ,�~|~|��$��¤��
δqf = iδωa

A(Ta)ff ′γ5qf ′ .@ |�|~É��£���9�C�$�9�$�Ð��|����N��|~�~�!�~�'¤�}����~}��N¨��«���J�
δL 2$3-4 = 0 ¦�§ ¡m¡m�9����}��¬�����$�@}��ÐÔ��'�$��¡m�9�¬³Ó���£}������ ¦ Ta

�
U(F )

���9�m�$�£�������£}�� ¦{ÏÔ:���$��¡m�9�¬³Ó���£}������7�
Ja

µ = qfγµ(T a)ff ′qf ′

¥9�
J5a

µ = qfγµγ5(T
a)ff ′qf ′ .

§ �9�$��¤��$��������³��~|~|��$��¤���}�ª'�«��|~¤��9����������� ¦ {��9}�� ∂µJa
µ = 0

¥9�
∂µJ5a

µ = 0
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∂µJa
µ =

∑

ff ′

qf (mf − mf ′)(Ta)ff ′qf ′

¥9�
∂µJ5a

µ =
∑

ff ′

qf (mf + mf ′)(Ta)ff ′γ5qf ′ .
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F = 2
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F = 2
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uγαd
¤��$������������}��d�

qγαταq
���9��¤��9������� ¦?§ �'�����C�$�m�N�$��}�¢���¤��$�����9�N¨��«��Ã¬} > ¦ mu = md

©�}���}�ª��~��|~����}��d�
uγαγ5d

©m�������������$�������'¯N���N}������$|~É~��¤�}m�
qγαγ5τ

aq ¦ {����$���9¢���¥9���J�
∂αJ5a

α = (mu + md)qγ5τ
aq.

� ¯N¢±ÃÈ¯N�7©C¡N�����
mu + md ∼ m2

π ¦ {��U}������'�������������Î��¥$�'���9�$���Z}"�m�����'�@����|«����� ���9����É������¬����}������$|~¡N}��¬�9�N��|~¤�} �±}���ÃÈ¯m� ¦ {¤�¥$���$���9¢���¥$�'�J�
∂µJ5a

µ = fπm2
πΦa

π.
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g1 ≈ 1.3
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c ¦�§ �m�m�9� A�� 8�}Z����|���¥��¬� ¦ { ����|������¬��¡N}�¢������N���£}��q���$�9�����$�$�$�����
Jα

h = uγα(1 + γ5)d
′ + cγα(1 + γ5)s

′.Â ���
d′ = d cosΘ + s sin Θ

¥��
s′ = −d sin Θ + s cosΘ ¦

q2 � m2
c

�9������¥$��}Ö���£���������$����}�����¯N|@�'�~�ÈÃÓ���~���$���'�����È��©'��¯N|�|«����º�|J� 0m|����'�@���$��Ã¬����¯m|~¥$�Ð}Ö�'�~���~���m¯m|~�$¯N� = �£}��������������'�7º�|ÃÈ��� ¦ Â �m�m�9�2}�������}��m�����J©�¡m�����
G2 =

G2
F

16π2
(mc − mu)2 sin2 Θ cos2 Θ,���¬�����'� ¦ }�� mu

�9|�¡N}��'��}�����|~¡N}���º ¦ Â �m�m�$� ���$��ÃÈº��¬��|�¡N}���º�}�� mc
©��~|~|��$��¤������9��¡N}����������9¡N}���ºÖ}

∆m = m1 − m2 =
4m2

c cos2 Θ

3πm2
µ

Γ(K+ → µ+νmu)

�������$�$�10m����¥9���@��|@�«� ¦ {����$���9¢m��¥9�'�7�
mc ≈ 1, 5GeV.
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e−

e+ c

c

γ
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pp → e+e−X8
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ΓJ/Psi = 63
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ΓJ/Ψ ∼ α3
QCD(mJ/Ψ),}�¡m��|

αQCD
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mp � mJ/Ψ

©mÉ����
αQCD
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{

c
¤�}����

c
�'¤�}��������±}��
�£}�����}�|���}��9º���¥��¬�9�9¨$����¥9���$�!¨£¡N}�������¢���¥9���$�9�'�m�$�Ð�N�$¤��9�$� 0m� ¦ § �9�$�U����� 0m|µ}�|~�$��}�|~}�¨$�����'��}��m�U�9�m�$��³���~��Ã = �'¯m|~|«}����m�~� ;��m�9��}���É~¤Ð�N}���������� = ��¥��¬�9�9¨$����¥9��}Ö����¤��$�����9�$�'�$�J�

� �����$� �Ä|��$�¬�£}�����}��
D+ (cd)

Ý
	�
�M Õ � Ò 8 · 10−13

�
D0 (cu)

Ý
	�
 9 Õ � Ò 3, 6 · 10−13

�
F+ (cs)

Ý
MLN
Ý
Õ � Ò 2, 8 · 10−13

�
§ �$�$� �������$��¥9�¬��¥$���$�/�~�����$������¥$�7�$� ���9�m�����9�m��|~º����~}��
��}�����}������9}������b�«����¯N¢m¯m�m� }�¢��m��} J/Ψ

�'�~�����$¥$|~�9����¥$��¥9���wÅ�¡m������� =¥9|��$�¬�£}�����}�������}�Êv��}
J/Ψ → D0D

0 �7����|«����¡m����}
cc
�������$����}Ö� 0N���$���d}�|~}��¬��¤�}��?�

mcc < 2m Ø ��
���� �����������9Ù������ÓÛ ,É~���U�$��}��@����|~���!���~�m�9��}����~��}��~|~}��Z����|������¬� ¦
F�
�F 
 ������+-%('�� +<H " #*' I*"�K H K � � %&����"��
{ ¨£¡N}������9¢���¥9���$��¨$����¥$� �@����|«����}����w} � Â Õ ³°���9¨£¡@}��m�~�$�Ö¯N�Í��|��£}�|Z���9�9ÃÈº��¬��|�� Jh

λ

���$�$�����9�$�$�¬���9|b����¤±���m�m�£} �~�w}
JλJλ����}�� × ���£}���³ .W}�����}��m���$³S�10m����¤�¥$���'�7��|Ì���9������| ÃÈ¯m� ¦ {:���$�m�7�$�/}����9}���}����$�N}��2����������}�|��­�7����|«������� |��9É��£������¡N���Z���<0m����¥$���9��£}������Ð}:.?�����9������³Ó�È����¯N��� = �£}UÅ���}�����}�³¹����������ª'���mÊÄ�'�~É��£����}b�m¥9|�� 0m|°�

(sc cos θ − dc sin θ)(νee + νµµ + ud cos θus sin θ +
¡ ¦ ¨ ¦ ). Å Ý Ê

{�����¤����m�m�«}��'�N}�� ���9��¤'�����¬����|~¯m�m� �m¥$¡N���'��©:�9�$�9� ��}������ ��|���}�|­|~�$É~�����7����|~���È� ¦ {��w}�|~���m�m�­�����m|~���9}����N}�� |~����¡N}��ÆÃÈ¯m� }|~�$¡N������¥$���9�����$�9���~|~�$�������m���
�7����|«��������}����
® ¤�}���������|~��}���}�� ���$|«}���É~¤Ð�9��������¥$� �'��¤���|~}��¬�$�������Ì�¬��}��N��|�� Ë ¥$|«¢m���

c → s`+ν` cos2 θ ∆S = ∆C D → `+ν`K
©
F → `+ν`

c → d`+ν` sin2 θ ∆S = 0 D → `+ν`
©
F → `+ν`KÅS{��

F
�7����|«����}��m����� 0m|N}����9|~���Z}�¢��������N���N� ¦ Ê Ò �$����0N�Z¥9���$����©�¡m�����Ö}b¨£¡@}�������¢���¥��¬�9�$�Z�9���'�~��ÅÆ¢m�����9������|«����¯m���¬�9�$���@�����¬³Ã¬���@º�|J������������Ê
��¯m|«}�Ã¬¢����N������}N©�¡m�����U}��7����|«����¯m�U�����£���������U��������}���¥��¬�9�9¨9�¬���:���9|��$�����$�$�~� ¦Ô:�$��|��9�������m�����@����|«�������J�

® ¤�}���������|~��}���}�� ���$|«}���É~¤Ð�9��������¥$� �'�~¤±��|~}��¬�$�����¬�Ì���9}��@��|~� Ë ¥$|«¢m���
c → sud cos4 θ ∆S = ∆C D → K + nπ

©
F → ηπ

c → udd cos2 θ sin2 θ ∆S = 0 D → nπ
c → uss cos2 θ sin2 θ ∆S = 0 F → Kπ
c → uds sin4 θ ∆S = −∆C D → K + nπ

©
F → KK

9



ÅS}�¡m��|µ}��
F
�7����|«����}��Ì�����<0m|W}����$�����Î}�¢������~�N���N�9©m¥��:}��b}�|~��º��$|~�'���������¬� ¦ Ê�{Ï�7����|«���¬���9����¥$���$�Ð�����9���¬�����¬�­�~����������������}��¥9����¤�}�� ¦§ �����$���'���$�9�!;��7�9¨9�¬|~¥9�¬����¥9���$É��!0m�N��}Z¨£¡N}������9¢���¥9���$��¨$����¥$���¬�9�$���~|��9�������m��� ¥9�
�m�$��|~�$�������m��� �7����|«�����@¤�}�|~º����$É~� ;N��¥$���9��³�N�$�U}��6}������������£}m� Õ ��¤��$| mc

³¹¡m�9�6��¥$�7�9�¬�
mu, md

¥9�
ms

�~|~|��$��¤��
mµ

¥9�
me

�$|~¡N}��'��}�����|�¡N}���º@©�}���¥$�!�7����|«�����Ì¢��~}����£}����
.µ�����$�����$³¹�¬����¯m��� = ����Ã¬}����$| ÃÈ�9���$�U}��$���N��� ¦Î´ }b} sin2 θ ∼ 0

©
cos2 θ ∼ 1

�����$�9|�É���¥��È� �«�
�$|�������}�¢±ÃÈ¯m�J©�}��'�����
}�� 0m|����'�N�¬¥9�Z}���¥��¢m�~}����£}����s�����9���¬�������N¢m�����¬�9�6}��m�'���°©�¡m������}Ö�m�9��|~�$�m�����N����¢��~}����£}���� �9������¥$�
du
³¹�N}��Ð}Z¤�¥9����|~|«}��7�����@}��Ð���$É~�m���@¢���ª��$�J�«�¤�}��m�N}��J©��9�$�$�'���:���9|?���9|�|µ�����¬�9�$���9�$�m�°©�É����

Γ(c,
�m�9��|��9�������m���

)

Γ(c,
�¬�9�$����|~�$�m�����N���

)
≈ 3,

}��9}��6}����£}Z����¤��$�����9��������¡N���!0N�m�J©�¡N������}�¨£¡@}�������¢Ð��¥9���$�9�U¢������~�N���@�!�@����|«����}�}��m�$��|~�$�������m��� ¦� ������������¯N¢��m�°©J¡m����� }d¶�·�¸�³¹���������$��¨��~º��U}��¬�9�$����|~�$�m�����N����¥��­}U�m�$��|~�$�������m���������������¬�$��¥9�"� 0m|����'�@���$�m�9�7©J}��9���'�N}���9�$�9�Ð�~��}��N�$��|��9�������m���!�7����|«���ÎÃ¬}±¤����£}Ö��º�¢����¬É��ÆÃ¬���U}Ö���$�����~�$������©N¢����m�$�+ÃÈ�$|~�$�������¬�9� ¦
F�
�� 
 ������+-%('�� +<H " #*'JK K�' ��)OH " '

Õ �$��¤'�~�9������| ÃÈ¯m�J©m¡N����� }��'É«�¬¥9��|~�����$�'¡m�$�Z¡m������}�� |~�$¡m�$�6¨£¡N}�������¢���¥9���$��¨$����¥9���������$|����$�N�S��}���Å
Ý Ê�����|~¨9�¬���m¡N}��£�����$.µ}����£}��m����10N����¤�¥$�'���­¤'�~�9������|~¤�}Ð�������$�Ö���$|~|�¤�}���� 0m�N�"}���}��m�N}��Í���$�$���$�N|��U��}�������}���}���É«��¥$��|��$���~|��9�U�'��}�|~���m�N}��2�9|�����|~|�É���¡@}���º���¥��¬�9�9¨9�È³��¥$�'���9| ¦ {��$�Ä|~���¬��¯N�7©�¡m�����Z}6�m�9¯��������Nº��Z����� 0m|��?0m���m�m�9¯��������Nº���}��C|~�$¡m�$�ÌÃÈº�|m���$|����$�N� ¦CÕ �~¤��9| s ³¹�'¤�}��������Î��}��¬�£}�|~��}��$º6�£}���������N���N¨9�$©

d
³¹�'¤±}��������
��}�����}�|���}��$º�����}�|«���m�@}�|Ì¢���|~�����$¡N}���¯m�N�7��}

νµ + d → c + µ−

���9}���¨$��ºÖ�$�����¬���'���$����}�|~�±}�|���}��$��������º�¢m���$�9��¨£¡N}������9¢���¥��¬�9�$�����9|���¥9��¥$��� ¦ @ |���}�|~���N}��d�$�9¯������d}
c → sµ+νµ¤�}����
c → se+νe���9}���¨$��º���¤�}�|~}����9|��'�~���6�9}�ÃÈ|��~�Ð|~� ¦C§ |~�$�~�����b}�|~�$�������m�7�������$���9�����¬�����9}���¨��~º���}�¢��~|��9�������m��������|���}���}������J©'�m| ¦

νµN → µ+µ−X¤���|���}�� ¦
� Y [ l+_�� t����1i �N]��$\Fx���]�h
� 
���
 �  !"�)
	�+,) H�� ' ��' %
{�¡@}���¤�}��N}���¥$¤��$�Ð�9|��¬ÃÈ¥$� ¤'�����¬����|������Ð}Ö� 0m���N���Ð|~�$�������m�����@����|«���������

µ− → e−νeνmu.Ý
M�
�A ³¹�@�9�Í�'É~��¥$��|~�����C�N���9���'�'É���¥$�Í���<0m|~���������Ö}d��¥��b�N�$¯������~�mº � 0m|����'�@���$����¥$��¥$��� ¦ {q�7����|�º ��¥9���$��¨$����¥$�2¥9|��$�¬�£}�����}������@º�|C|��|~�$¡N�����$�¬��¤����m�m�?}�����¤��������9�����$��¥��È��©�¡N�����U�����9�m���6�7����|~���¬��º�|J¤�}�� ���$º ¦ {:���$����|~�$É~���m�Ì��¥9�@����.µ}�����}��m���$³S�10N����¤�¥$�'�J�

L = −Gµ√
2
νµγα(1 + γ5)µe(1 + γ5)γανe + h.c.,

Å A Ê
¥���}���¥$|~������}��¬�£}���³°��¥9��¥��¬�9���7��|J��}�����|~|~}��mÉ���¡N}���ºN©'¡m�����

gµ = 1, 166 · 10−5 GeV−2 ©mÉ����
Gβ

Gµ
= 0, 98.

§ �$�$�9|?��}��J¨$����|«}����N}������9�����$|~|~���¬����}�����}������$�m�J}��N�N}��U}�����������©�¡m�����
• �$����}�Ã¬¢m�m�$�Ñ�9����©
• }��9���'�N}�� }����9��������|7¤�}�|�º��$|���¥9��¥���}�¡m���@}�¡N}��������N��|�ÃÈº�¤�}�|Ì�N}��������N� ¦

�



{������9�m���6����|~¨9�¬���m¡N}��£���
¯m�m�~¤��9����}�|~���£�������N}���}����$���'�~��ÃÈ�$|~�$����¥9���6¥9�m�7�$�2}���|~�9����©�¡m�����Ð�9�6��}�Ã¬¢��m�$� �@����������}��d�$��� ¦�Ä�£¢��9������¥9���$���$¤��9�m�m�N}��­}��N}�|~º����~��� }��$��}�|°©�¡N������}������������9©�¡m������}��:�9|��9����������¥9��}b� 0m���?©��~|�|~����¤��­}Z�m����������¥9��}b�m�~�������|���¥��¬�­���9���9�����9�$�~�J©�}��­�$|~�$������������� ���£}��)���9����}��£}�¢N����}­¤�}�� ¦�§ �m�m�9��}b���~������Ã¬���£}��$�����������
}���¯N�m��¤��$���9}�|��������C���������¬��«��¤�}�|«}����~|����$�����9����}��£}�¢N�����@������¤�¥9�������¬�¬ÃÓ���$�¬���9�J� }�� Ý M � >�³°��� ¥9¤��$�U¤�¥$��¥$� �¬� 0m|~�����$�¬���m�9�Ð}Ð· Ò · ³°¡m�~�7����¥9�$�«��ÅÆ¨$���N���$��¤���¢¤��9¨�������¨$¯m�����$����©����9����}��£}�¢�ºÖ¤��9�������£���£}��ÐÊv©����~���$�9���~���!}������$�N���6¡N}�¢������@���£}��oÅ
pγα(1 + gA

gV
γ5)n

Ê�¤��9����������¥9���$�ÖÅ
pγαn

Ê���9����}��£}�¢ ¦Î§ �m�N�$��}����$���'�~�Ð����¤��������$�9��¥$�'���­|����¬��©�¡m����� Gβ

Gµ
= 1 ¦{:� Ý M � >�³¹�9�6¥�� 
 >�³¹}���¥$¤��9�"������¢�¯N|�º�Ã¬}U�£��Ã¬���/�����Í�$����¥$�/�����$�m����¡N}�¢������'�7����|«���¬�6Ç@�����9|����$�"���9�N©��¬� 0m���¬¥9���9����¥�¤���|���9�$�9�Ð�������£��|~����������}m�

• ������� �	� ��
���
���
�� �@����|~���¬���Ð}��$���J©'}����$|~���$�'�7�$�d|��9�������m���U�~����¥9������¤��9���$�m�9� ¦ Ë ¥$|«¢m���J�
π± → µ±

(−)
ν µ, π± → e±

(−)
ν e,

π+ → π0e+νe,

K+ → µ+νµ, K+ → e+νe,

Λ → pe−νe.

• ����� � ��
���
���
�� �7����|~���¬���"Å���}��£}������$���~���������'¯N��¥$|~������}��¬�£}�� & 10−10
�£Êv�

K0 → π+π−,

Λ → pπ−, Λ → nπ0.{ ����� = ÃÈ���m�N}�� ���$|����9¢��9�$�$�¬���@����|~������}�|
���$���$� 0m|���}w�m�����m|~¥$��}N©C¡m�����/}�.µ}����£}��m����³°�10m����¤�¥9�����$���������!���$|~|�³¹�U�9��¥9���$É����9�m��9����³¹�$��� = Ã Ò ³¹{Ï��}�����}�|Ì���~�N¢��9� = Ã��@����|~���¬�£} ¦C§ �����b}��m�����m|~¥$�����£}��������������1¥�� ���"!�!$#&%'�����w}�¢'��}����$�Ð}�¤���|~}��¬�$�9����U}Ö�����9�m���6¡N}�¢������N���£}��)(+*ÖÅ 8�Ê!�¬�9�$�����$�9����¥��!¤��~�9������|��£��� ¦ {�����}�}�����¤��$�����$��������¥9����� ÃÈ¯������¬��}��J©�¡m�����Ð����¤��$|?}Ö¡N}�¢������N����'¤�}��������'�@º�|?��|~|��N}��J©@}�¡N}�¢������m���������$�m���6�7����|«����}��~¥$���:}��'¤�}��������U�����9�m�����7����|«����}��Ì���9|��9|����¬�9�1ÅS}��N}�|�º����«}m� }���������}������¥��!��}���}�|�������º��2Å
p, n

Ê¬Ê ¦C§ �'������}��7¥��£}�³¹�@����|«���9� d → ue−νe
|����¬� ¦ {��m�$¯m�������d�@¥$��}�³¹�7����|~����}Z���9¡N�����

n
︷ ︸︸ ︷

(ddu) →
p

︷ ︸︸ ︷

(duu) + e−νe.

§ �m�m�$� }"|��9É��£�����N}��/}����$|~���'����©�¡m�����Í����¤±���m�m�
����|~��}���}������Í|~�$É~����������} �«�Ö}�|���}�|���}��9©��m| ¦ }��U�$|~���N�m���7��|!}"���$���9�������$�$¥������$|��}��@���¬������|~��}���}��9�
π−

︷︸︸︷

(du) → e−νe�«��¯m����}��N}��$��}�|@}Ö����������ª��$|~�$�����$|JÉ���¡N}���ºZ|~��©'É~���Ð}��­�9|���¥$|~���!�N}���}���¥$���9���9���m�9��}Ö���9����}Ö¨$�����'���9�?©������N�bÃÈº���|«}���������}��m¯m�m� ¦{:� = Ã��9|���¥9|��$���7�$�"}��¬�9�$���~|��9�������m�����������±}������������9�b����|~��}���}�������}��!|��9É���º .W}�����}��m���$³S�10m����¤�¥$�'�J�
L = −Gβ√

2
uγα(1 + γ5)d {eγα(1 + γ5)νe + µγα(1 + γ5)νµ} + h.c..

Å 8�Ê
Ò �9��� 0m��¥��¬�9����©�¡N�������'¤�}������¬�9�������$�U}

gA/gV
��|~|~}��N¢�º��@�9¤��9�$����¥9��¥$���­���$�Ñ¤���|��!���<0N�'��¥$� ¦�§ ��}��6�$|~��¥9|��$��}b���9�����?¡m�«���'�����È³���������������<0N|J���������d�¬�9��É��9©N���Ñ��¥$�������N¢m�����m�9����}�����}����������$���m¥9¡N���'�Ð¢���|������9�

• Gβ

Gµ
= 0, 98

¡m�$|~���$�¬� Ý ³¹����}�¢ ¦
• }���������}�������¤���|���ºZ����|~��}���}�������}����m�9�Ñ�£}�����}�|~��}��9�9} ¦

§ �$�$���$�/�¬�9��É���}"·�}��m���N�@��³°�9|���¥$|~��� ¦Z§ �N�m�$�w|�¥9�����$����Å�����¢��9���w���9�����~�m��|~º����~�±¤�}�|ÁÊ�}���©?¡N�����"}������$�m���Z����|«¨$�����m¡N}������¬�N}����¥9������¤��9¤��
d, s

��¤�}��������w}"¡N}��£�������$���¬�b�������$� ;
d
¥9�

s
�'¤�}��������w�$���1|~�~�m�9���������Z�N���N��¨��~º�Ã¬}1Å��9|��9������������������|���¥���0m�/�9����³��������}�Êv©m}���}���}����$����� .µ}�����}��m���:�10m����¤�¥9���'�7�

d, s
¡m�$|~��¥9���

d′, s′
³°�����9|�|ÌÉ~���N�S©m}�¡m��|

d′ = d cos θ + s sin θ,

s′ = −d sin θ + s cos θ,

}�¡m��|
θ
}Ð·�}��N���m�7��³Ó���$��� ¦�, ��� Gβ = Gµ cos θ

}�¢�º�¢��~�7�
Gβ

Gµ
= cos θ = 0, 98,
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su → µ−νµ����|���}���}��
¤±}�|�º��¬�9É�� ;N��¥$��¥$�m�9�Ö��¥9��¥��¬¥9�@��|@��}��mÃÈ¯m�J©�¡m�����
sin θ ≈ 0, 21

©�}����Ì}��­�9¢m¢m�������9�����$|@�����¬�9����¥$���
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